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Which of the following sampling method is preferred for studying heterogeneous population?
(A) Simple random sampling (B} Stratified sampling
(C) Convenient sampling (DY Systematic samphng

A teat that examine subjects’ thoughts and thought processes is :
(A) Cognitive test (B)  Affective test
(() Standardized test (D)  Generalized test

Which of the following is'most appropriate about discussion part of a research paper?
(A) It elaborates importance of the topic
(B) Explain how the findings concur with that of others
(C) Deals with method of sampling and recruitments
(D) Deals with findings of the relevant studies

The process of collecting and analyzing information to develop or enhance a theory is :
(A) Basic résearch (B) - Applied research
(C) Ewvaluation (D) None of the above

If vou want to determine whether and to what degree a relationship exists between two or
more variables what kind of study you have to do?

(A) Descriptive (B) Correlation
(C) Causal-comparative (D) Experimental

Creating a class room climate conducive to develpp positive self concept in students is by :
(A) Challenge and freedom {B) Respect and warmth
(C) Control and success (D) All the above

Which of the following teacher will be liked most?
(A) A teacher who maintain discipline in the classroom
(B) A teacher who make teaching learning process enjovahle
(C) A teacher who give more home work
(D) A teacher who take more number of classes

An instructional model that identifies the major variable in the teaching learning pm&ess
includes :

(A) Individual differences (B) Principle of learning

(C) Teacher behaviour . (D) All the above '

The extent of teachers’ subject matter and pedngoﬁical expertise indicates the teachers :
(A) Efficacy (B) Morale
(C) Competency (D) Efficiency
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What will be the impact of interactive teaching?
(A) It will make teaching learning process difficult
(B) It will nmat.e confusion among students
(C)  Students will be expected to listen only

(D) It will make teaching learning process effective, democratic and friendly

The term socialist has been :nqerted in the preamble by the —_ - Amendment Act of

the Constitution.

(A) 43 B) 42
C) 41 (D) 40
Right for freedom to form Association is provided in —————— Article of the Constitution.
(A)  19(1)(a) (B) 19(1)b)
(C) 19(1)(e) _ (D) 19(1){d)

Money Bill can be introduced in :
(A) Lok Sabha (B) Rajya Sabha
(C) Both (A) and (B) (D) None of the above

Legislative council of a State :
(A) Can be dissolyed by the Governor : 3
(B) Can be abolished by the President with the advice of the Governer of the State

(C) Can be abolished by the Parliament based on the resolution passed by the
: majority of the Legislative Assembly

(D) Can be aholished by the Governor based on the resolution passed by the majority
of the Legislative Assembly

Which of the following statement is true?

(1) The President can make a proclamation declaring emergency only when he receives in
writing the decision of the Union Cabinet to this effect

(2) 'The president could make a proclamation declaring emergency on the ground of threat
of internal disturbance

{3) The president could make a proclamation declaring emergency on the ground of threat
of Armed Rebellion '

(4)  The president could make a proclamation declaring emergency on the ground of threat
of External Ageression

(A) 1,23 _ B) 1,34
(€C) 2,3, 4 M 1,234
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According to Child Labour (Prohibition and Regulation) Act, 1986 Child mean the person who
has not completed his vear of age.

(A) 18 (B) 16

(C) 156 (D) 14

What is the penalty for the refusal of the RTI application by the Public information Officer?
(A) Rs. 5,000 and 1 month imprisonment (B) Rs. 1,000 and 1 month imprisonment
(C) Rs. 5,000 (D) Rs, 25,000

Which of the following statement is not true?
(A) No child shall be required to work for more than 3 hours at a stretch
(B) No child shall be required to work for more than 6 hours including rest period
(C) No child shall be permitted to work hetween 8 p.m. and 8 a.m.
(D) None of the above

The Sexual Harassment of Women at Wurkplacu (Prevention, Prohibition and Redressal) Act,
2013 :

(1) Protects women working in that place
{2) Protects any women who enters the work place like clients, customer, etc.
(8) Protects all the employees who are working there
(4'] . Protects only women working in government institutions
(A) 1and2 : (B) 2and 3
(C) 3and4 (D 1,34
Whoever contravenes the provisions of 8.24 of the Water (Prevention and Control of

Pollution) Act, prohibition on use of stream or well for disposal of polluting matter shall be
punishable with imprisonment for a term which shall not be less than :

(A) 1 vear but which may extend to 6 years
(B) 2 year but which may extend to 8 years
(C) 14 year but which may extend to 8 years and with fine

(D) 14 year but which may extend to 6 years and with fine

In which novel of Kesava Dev ‘Pappu’ appears as the main character?
{A) Odayil Ninnu (B) Branthalayvam

(C) Kannadi ' (D) Avalkkar
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92. The First editor of ‘Swadeshablhimani’ daily :
(A) Balakrishna Pilla (B) K. Ramakrishna Pilla
(C) Vakkam Abdulkhader Moulavi (1) C.P. Govinda Pilla

93. Who organised ‘Misrabhojanam'
(A) Sri Naravana Guru (B) Sahodaran Ayvappan
() Ayyamkali - (1 Chattamhhi Swamikal

94. “Pattini Jatha' led by :
{A) K. Kelappan (B) Dr. Ayvathan Gopalan
() A.K. Gopalan (D) P.K. Chathan Master

95. Who took Prime role in the publication of ‘Rajvasamacharam’
(A) Clement piyvanocos padre (B) Dr. Herman Gundert
(C}  Arnos Padre - (D) James Augustus

96. The Chief guest on the occassion of G5™ Republic day celebration :

(A) Shinzo Abe (B) Hu Zhang Tao
(C) Yoshihiko Noda (D) Wen Jiabo
97. Which amount the follnwing-diseases is eradicated through immunisation programme in
India? .
(’a,"} Polio (B) Tuberculosis

. (C) Diptheria (D)  Jaundice

98. Who inaugurated the new Kerala legislative agsembly building in 19987

(A) A.B. Vajpayee ' (B) LK. Gujral
{(C) K.R. Narayvanan (D) Krishnd Kant

99. The Minister who presented and passed the Land reformation act of Kerala in 1969 :
(A) T.V.Thomas (B) K.T. Jacob
(C) C. Achutha Menon (D) K.R. Gouri

100. The bowler to take Sachin’s wicket in his last test :
(A) Darren Sammy (B) Narsingh Deo Narine
(C) Chris Gayle () Keron Pollard
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